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cp /home/had/shiomi/work/production/run81/pro@d/work/wfm/root/runsRunNum/
runsRunNum nodel9 file0O.root /home/had/hmkim/work/hmkim/run81/Wfmcheck/wfmFile/.

hadd wfm_run.root runx.root



T->Draw("DCV.Data[@] :Iteration$>>h(64,0,64,14000,0,14000)","","colz")
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T->Draw("DCV.Data[@] :Iteration$>>h(64,0,64)","","colz",1,37
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T->Draw("DCV.Data[@] :Iteration$>>h(64,0,64)","","colz",10,100)
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T->Draw("DCV.Datal[@]:Iteration$>>h(64,0,64)","","colz",10,170)
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T->Draw("DCV

.Datal[@] :Iteration$>>h(64,0,64)","","colz",100,200)
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T->Draw("DCV.

Datal[@] :Iteration$>>h(64,0,64)","","colz",100,300)
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T->Draw("DCV.Data[@]:Iteration$>>h(64,0,64)","","colz",100,400)
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T-—>Draw("DCV.Data[0@]:Iteration$>>h(64,0,64)","","colz",100,500)
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T->Draw("DCV.Data[0@]:Iteration$>>h(64,0,64)","","colz",1,630)
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T->Draw("DCV.Data[@]:Iteration$>>h(64,0,64)","","colz",1,662
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T->Draw("DCV.Datal[@]:Iteration$>>h(64,0,64)","","colz",10,1030)
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